
 

 

DIVISIONS OF DECIMALS-Set 2 
 

 

  

2. Divide 664.6 by .2 

 

1. Divide 583.424 by 0.04 

 

3. Divide 56 by .028 

 

4. Divide 840 by 0.06 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

SUCHI BANSAL 

 

 

5. Divide 1012.2 by .3 

 

6. Divide 1320 by 0.33 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7. Divide 589.505 by .005 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8. Divide 4956 by 2.1 

 


